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Jull marks for the questions.

Answer either in English or in Assamese.

1. Choose the correct answer of the following :
(any ten) 1x10=10

fse Roamzs o4 va Oesc ik Sfiedl
(Reizat 72b19)
(@) A contract with minor is an example of
TR FICO pie (2R W 9T Srisel
(i) valid contract

@4 pie

(ii) void contract

Afoet pfe

Contd.



(b)

(c)

(iii) voidable contract
Jifssicany pfe
(iv) illegal contract

WY pie

In which state of India, the Sale of
Goods Act, 1930 is not applied

CIRed (T A ey AW [Ft Wiz, 1930
A T T

(i) Assam
ST

(i) Sikkim
fefemt

(i) Jammu and Kashmir
Y % S

(iv) Goa, Daman, and Diu
ColRT, 7o oS 1%

The Limited Liability Partnership Act
came into force on:

IS (7l SIPTIRIST S (i SR #i91 Foike
[EleE:

(i) 31st March, 2008
©s N6, Y00b

(i) 31st March, 2009
©Y T, 005
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(@)

(e)

(iii) 1st April, 2009
s ¢feis, K005
(iv) 31st July, 2009

©5 TR, 200d

The Indian Partnership Act came into
force on: :

SIS SIS SN2 (PN SIS AN TR
[ClF

() 1st October, 1932
S B3R, Y09

(ii) 31st October, 1932
©Y TCIRA, S5O%

(iii) 1st November, 1932
S TS, 59

(iv) 1st December, 1932
> =R, so93

The Right to Information Act, 2005
came into force on:

B SEPIT 2, Y00¢ (FIF OIfFT 271 TR
=R—
(i) 12th March, 2005

53 W6, R00¢

(i) 12th July, 2005

R Ejﬂli , R00¢
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@)

(h

@

(iii) 12th October, 2005
5% S[IRT, 00¢

(iv) 12th November, 2005
53 FEIF, R00¢

Not all agreements are contracts.

T IS BE A |

(i) Correct (%)

(i) Incorrect (%)

Offer is defined u/s 2 (a) of the Contact
Act, 1872.

1 pfe i, W%M(ﬁ)iﬂ?ﬁﬁwmﬁw

= =

(i) Correct (¥%)

(i) Incorrect (%)

The Principal Debtor is the person who

gives a guarantee in a guarantee
contract.

G| piee Gifse il iess 2o a1 Yeae |
(i) Correct (¥%)
(i) Incorrect (@)

There are two parties in a bill of
exchange.

e e 1ot % Qi)
(i) Correct (9%)
(ii) Incorrect (T1%)
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0)

The Chief Information Commissioner
under the Right to Information Act is
appointed by the President of India.

SRUACIEEo AN PERCE Y SERIASRIAC I A5G
IFsifer Fyfe fma|

(i) Correct (%)
(ii) Incorrect (o1a%)

Answer of the following questions: 2x5=10

TafeiRe epiiss et &l ¢

(@)

(b)

()

(@

(e)

What is void agreement ?

Jifee] T T Q@I 2

What is Contract of Indemnity ?
HooFR pie T & 2

What is unpaid seller ?

w2re [ReFel @ ¢

Write any two differences between sale
and agreement to sell.

Rt =% Repl I%RT e Repicant 761 =L
o7t |

State different types of negotiable
instrument.

WA wiee Rfon dermR Swd 41|
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3.

Answer any four of the following questions :
S5x4=20
AxFRe ee@a o[t R 51ieoT el o ¢

(a) Write the essentials of a wvalid
acceptance.

@ T STTRIR ST T |

(b) Distinguish between Conditions and
Warranties.

3R SR S (T TR SMer 2Hiefay fordli |

(0 Mention the penalties that can be
imposed on a Public Information Officer
for failing to provide information.

I FsEe L @i 4R_RT @iifEeT et ©U
T eris @RI TR [ =0 |

(d) State the liabilities of partners under
the Limited Liability Partnership Act.

AR (@l TLTAR S GHTS SIS
(AR S 11 |

(e) Explain the procedures of registration
of partnership firm.

:ﬁﬁ DT G TR DI
|

() Distinguish between bills of exchange
and promissory note.

v et =i efSwfS st e stk fi |
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Answer any four of the following questions

in 600 words each : 10x4=40
AR eHERS “9 [ 56T ©el =2l 8
(2Bl voo *FF foese)

(a) What is quasi contract ? Describe the

rules relating to quasi contracts.
2+8=10

P pfE T @I 2 T o TP R
e 11|

(b) Discuss'the rights and duties of bailor.

ReMoR SR SE 6T KA S
=

(0 What is Contract of Sales ? State the
essentials of a Contact of Sale.

2+8=10
RER e & 2 Repl pfes o REwnz
T 41|
(d) (i Distinguish between holder and
holder-in-due course. 5+5=10
453 9% JRfTe gieT oo A1y
G

(i) Distinguish between bill of
exchange and cheque.

RN ~g S gmiors e AL o
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(e) Define partnership. Explain the
different types of partners. 2+8=10

wmiRge w5 o7l | wiviss Ried ez
6t <= | '

() State the features of limited liability
partnership. Distinguish between
limited liability partnership and
company. 5+5=10
He ot ARSI @FS @R S 4|
e (Fetl SRAMIST SIS (PN AETS AL
reqt |

(g9 What does Right to Information
mean ? State the process of obtaining
information under RTI. 2+8=10

SR SR ITE I 2 O SIS SRS
GO 0 ST T AROCH! Gz |

(h) Explain different forms of dissolution
of partnership firm.

AW @SB Q2T SREIEE e ez
il 4 |
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